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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN', ’slISetVI']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-11_0
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P3-11
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P3-11

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

06:40 283 150.0 2.888 FH| 1BRi%@06:40 B3h (KAL)
07:35 283 150.0 2.888 FE| 1BRi%@07:35 B (kAERSE)
08:30 283 150.0 2. 888 FE| 1BRi%@08:30 Bz (kB{EREE)
10:05 283 150.0 2.888 FA| {Ri&@10:05 Bzl (GkAEREEE)
11:10 283 150.0 2.888 FA| {Ri&e11:10 Bz (GRAEEE)
11:55 283 150.0 2.888 FE| 1BRi%@11:55 Bz (kAERSE)
12:40 283 150.0 2.888 FA| {Ri&e@12:40 Bz CGRAEEEE)
13:30 283 150.0 2.888 FH| 1Ri%@13:30 B3h (KAERSE)
14:50 283 150.0 2.888 FE| 1BRi%@14:50 Bz (kPBERSE)
16:30 283 150.0 2.888 FA| 1Bi%@16:30 Bah (RAERES)
24t 2830.0 (10%%) 1500. 0 3 WUHKEC: 2080.0, PH: 5.7

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

HEEIHECE (2220.0 vs 4893.0) 15

150.0), FAEEHT—@ % XA HS
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P3-11

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

07:20 283 150.0 2. 888 RS {Ri8e07:20 Bz (REERSE)
08:05 283 150.0 2.888 RS 1Ri&e08:05 Bah (FFEEEEE)
09:10 283 150.0 2.888 |Z=| {Ri%e09:10 Bz (KREAEZEHE)
10:05 283 150.0 2.888 |Z=| {Ri%e10:05 Bz (KREAEHE)
10:55 283 150.0 2.888 |Z=| {Ri&e10:55 Bz (REAEHSE)
11:50 283 150.0 2.888 |Z=| {Rige11:50 Bz (REAEHE)
12:30 283 150.0 2.888 |Z=| {Ri%e12:30 Bz (REAEHE)
13:10 283 150.0 2. 888 Bl Rige13:10 Ba) (REAEESE)
13:55 283 150.0 2.888 B 1Rige13:55 Bah (REEESER)
14:40 283 150.0 2.888 BS| 1Ri%e14:40 Bz CGREMEESE)
15:35 283 150.0 2.888 S| Ri%e15:35 Bz (REERSR)
16:55 283 150.0 2.888 [Z=| 1Ri%e16:55 Bzh (GREEESE)
23t 3396.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.6

MERRNER S STREAERS (184.0 : 150.0), AJEEHF—RZ XA45)
2RI\ PRIERE150. 0 ml.
HERECE (2323.0 vs 4797.0) H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=57 (2025-05-29)
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optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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